&5 89/HMF ololx|

M OISR
oted =&, m|2f M2l ZetAE T8, Lifd

AMIME]:
K0098
K0100
K0101
K0102
K0103
K0106

£H MY
1) 2ETH £ 2|x| 1
2) AEH El X[ 2

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/3



[ ]
Heliz AXIS] AEHHrgl = = o
i|'IEl:l—'l'—lcs:i'I"‘E"E === l:l'
=M
S
&
™
[a'a}
=
K0061.0300 Ql m
&
|
A3
A2 || A
Zs g9
SEW L E S0 o A LAY A SUD
FEHS £l 2]z £l 2[%[2 AET 9IS E %1 E 21x2 M7 ZE =E Hs, EE
ggloto]  gEElgto] &) aglo| aglo| = E ENCE E AR P L
T 2= T 2= T 2= T 2= T 2= AEH RS
K0061.0250 95° 125° 160° 70° 85° 100° K0098.04 K0100.28
K0061.0300 105° - 160° 65° - 90° - K0100.28
K0061.0350 90° 120° 180° 70° 80° 110° K0098.06 K0100.30
K0061.0450 90° 125° 180° 70° 85° 110° K0098.06 K0100.34
K0061.0550 90° 120° 180° 65° 80° 110° - K0100.35
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
HieHix A XIS AxndHl Ol = =LC| OF
iu'l Eﬂ—_l_—lsci 'I'"_‘o;'E = E%o‘ =
Z= 29
FEWS AA1 A2 A3 B BIB3C C1 C3 D DI E H L L1 M=EFZATE £33 £ 23 I I
FH  F1 F2 F3 F4
N N N N N
K0061.0250 1935 8 - 32 47 6 31175175 7,1 83 24175112 77 M8x60 190 1000 2800 900 1700
K0061.0300 2543 9 1934552 6 34 19 17,5 8 8,3 24186 143 100 M8x60 130 2000 3700 900 1850
K0061.0350 3250 9 - 45 64 8 42 22 22 8,3 10,330220 149 99 M10x80 230 2200 4500 1400 3000
K0061.0450 3253 10 - 45 64 1051 25 26 8,7 12,3 32228 180 127 M12x100 260 3200 7000 1400 3000
K0061.0550 5176 12,5 - 70 951084 32 32 12,3 16,3 35312 236 160 M16x150 290 3000 8000 1800 3900
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



